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The seril manipuator shown n fiure 1 is et i configuraion such that the pose of the effecor wit
espect fo 3 worid reference ffame, R s defined by the composed homogeneous fransformatio
M, Qgpparnas hat folows (define with respect t evolving reference frames)
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On the other hand, the pose of the robot base with respect to the world reference frame, R,
Gefined by the composed homogeneous transformation Matrx, Qasaiseris, that follows (defined wit
respect to evolving reference frames):
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Figure 1




[image: image2.png]Moreover, the Denavit-Hartenberg parameters of the manipulator in this configuration are defined as.
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Determine the rotation angle of the second degree of freedom, 6, that must

effectorto the specified configuration.

be used to bring the




